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wo B R )= A = A A Bl1 o B|x 1 A1 2 A A J=| Al 3
L B B oA 24.9 22.4 21.6 18.0 28.4 16.2 18.4 21.7 25.7 13.7 13.5 26.7| 2512
I K HT 13.8 7.4 10.5 11.2 12.2 11.1 13.1 18.2 11.1 10.0 8.4 11.8| 138.8
B F M 32.3 23.1 36.3 36.4 34.1 25.7 30.0 37.6 45.0 18.9 17.7 268 | 363.9
FR 3 71.0 52.9 68.4 65.6 74.7 53.0 61.5 775 81.8 42.6 39.6 65.3 | 753.9
= Y 19 8.0 3.2 5.4 18 17| 241
?2 ST ORF BT 3.5 1.9 1.1 0.5 4.5 11.5
B A E 1.4 8.6 2.1 3.2 3.7 3.8 1.0 23.8
| B 3.5 8.6 5.4 9.9 6.4 5.4 5.5 0.0 3.7 0.0 8.3 2.7 59.4
? B % M 9.8 9.8 10.7 7.6 7.5 8.7 18.4 16.3 2.8 20.4 33.4 88| 1542
g TR HT 41.3 21.6 12.3 14.9 42.8 9.7 21.0 42.0 38.6 2.1 10.1 417 | 298.1
B A A 70.5 55.4 43.0 63.1 49.6 83.1 52.4 83.2 72.1 38.9 33.2 62.3| 706.8
| & 121.6 86.8 66.0 85.6 999 | 1015 918 | 1415| 1135 61.4 76.7| 112.8| 1159.1
i B ¥ HI 11.1 7.4 18.6 18.6 11.1 7.5 11.1 7.6 18.6 14.8 11.1 112 | 1487
£ ' & B 12.2 27.6 248 26.4 19.5 28.0 12.1 18.7 17.5 23.8 6.2 419 | 2587
ii B M A 74.4 81.1 70.3 66.3 81.3 62.8 55.6 51.7 48.1 62.7 58.9 62.9| 776.1
k| & 97.7| 116.1 1137 1113 1119 98.3 78.8 78.0 842 | 1013 76.2| 116.0| 11835
L B oE 59.3 59.5 58.8 61.6 57.7 58.2 58.1 61.6 58.1 58.2 58.1 61.6 | 710.8
’T‘ TR OET 59.7 59.2 59.1 58.1 58.1 58.1 58.2 58.1 51.3 58.1 58.2 58.1 | 694.3
Elk| F 1190 | 1187| 1179 1197| 1158| 1163| 1163| 1197 1094 | 1163| 1163 119.7| 1405.1
AR %A 82.3 76.7 90.0 95.8 79.5 79.8 89.4 85.5 79.5 934 | 1026 83.3| 1037.8
= IR BTl 1132 | 1084 99.7| 101.3| 1215 95.8 918 | 1188| 1074 84.0 790 | 1417 | 1262.6
B ® B 1463 | 145.1 113.3| 1294| 1330| 1459| 111.2| 1349 1239] 1016 959 | 126.2| 1506.7
F i 3418 3302 | 3030| 3265| 3340| 3215| 2924| 3392| 3108| 2790 2775| 351.2| 3807.1
® 8 % 8| 1072 99.1 1116 1138]| 107.9 960 | 107.8| 107.2| 1052 107.1 116.1 110.0 | 1289.0
& T FF BTl 1270| 1158| 1102 1125| 1337] 1069| 1049 1370| 1185 94.0 874 | 1535 | 14014
B ® B 1786| 1682| 1496| 1658 167.1 1716 | 1412| 1725| 1689 | 1205| 1136 153.0| 1870.6
E 3 4128 | 383.1 3714 3921 | 4087| 3745| 3539 | 4167| 3926 321.6| 3171| 4165| 4561.0




